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1.

The Coast Guard Administration is responsible for the rescue and emergency Services.
(A) dimension (B) command (C) maritime (D) finance
Since their primary practical goal was to reduce crime , police long believed that they were
in the business of crime prevention.
(A) victimization (B) affluent (C) implement (D) affordable
. With the outbreak of corona virus, how to control this spreading disease has become a major

around the world.

(A)am (B) policing (C) examination (D) concern

Two suspects were picked up by the police because their motorcycle’s was captured by a
CCTV camera.

(A) size (B) plate number (C) dealer (D) license

For flight safety, explosive items are on the aircraft.

(A) prohibited (B) entrenched (C) evaluated (D) implemented

Please step out of the car for a test.

(A) blowing (B) breathtaking (C) breath (D) breathalyzer

The police took all the camera footage around the area for the murder case.

(A) innovative (B) chaotic (C) surveillance (D) renewable
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The key to understanding organized crime is to recognize that, like corporations and other
businesses, it exists for a single purpose: to make a profit in a capitalist economy. The key difference
between organized crime and “legitimate” businesses is that organized crime often makes much of its
profit from illicit goods and services, and organized crime is prepared to use illegal means and practices,
including violence, to achieve its profit-making goals. Like legal businesses, organized crime also seeks
to gather and harness political power to assist in the conduct of its business. Once again, however,
organized crime is prepared to pursue that goal, if necessary, through recourse to illegal methods. Actual
violence is rare in organized crime activities, and is usually related to street-level activities. While
violence is bad for business, the potential for violence is often enough to give organized crime networks
a distinct advantage in the marketplace.

8. According to the passage, the author discusses?
(A) illicit enterprise and profit-making
(B) organizational strategy of a legitimate corporation
(C) violent interactions among corporations
(D) organizational structure of organized crime groups

9. Based on the passage, which statement is correct?
(A) There is no difference between organized crime and legal businesses.
(B) Actual violence is usually used by organized crime networks to occupy market.
(C) Political power can help organized crime to pursue illegal profits.
(D) Organized crime will use political power to pursue benefits, but corporation won'’t.

10.0rganized crime often makes much of its profit from?
(A) charity
(B) loan-sharking, gambling and pornography
(C) big data analysis of market
(D) state-run businesses

11.According to the passage, which statement is incorrect?
(A) Making a profit is the purpose for organized crime.
(B) Making a profit is the purpose for legal corporation.
(C) Even violence is not good for business, it is still helpful to organized crime networks.
(D) Organized crime usually attempts to accumulate and use political power, by legal approaches, to
assist in the conduct of its business.

12.The word "advantage" in the last sentence most nearly means?
(A) handicap
(B) hindrance

(C) burden

(D) benefit
13.Jackson was for burglary because he broke into someone’s house.

(A) assaulted (B) arrested (C) violated (D) rioted
14.Without a(n) , you can’t come into my office to search.

(A) warrant (B) citation (C) application (D) evidence

15.As vessels sail close to the coast, mariners can use peculiar targets in land as a landmark to

(A) navigate (B) negotiation (C) neglect (D) newsstand
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There is little doubt that the current wave of globalization has resulted in new 16 flows
and networks, some of which have had criminogenic consequences that have generated new _17
concerns. The 18 of people, money, information, and commodities has provided new
opportunity for criminal activities. Many countries are finding that their 19 to deliver order and
safety is increasingly 20 by global forces.

16.(A) cross-border (B) firecracker (C) expensive (D) enforce
17.(A) intoxication (B) familiarity (C) security (D) alongside
18.(A) assuming (B) comparison (C) undertaking (D) mobility
19.(A) random (B) capacity (C) debate (D) smuggling
20.(A) smuggled (B) undermined (C) arrested (D) economic
SN S EERE (R34 £ 604)
21.Community policing is arguably the single most extended in policing worldwide.
(A) stable (B) paradigm
(C) amuse (D) pattern
(E) model
22.Cooperative structures that the exchange of information between police agencies were first
established at the beginning of the 20th century.
(A) gentle (B) flexible
(C) facilitate (D) enable
(E) promote
23.1t is difficult to prevent all accidents. It is unlikely to be totally natural disasters.
(A) free from (B) immune to
(C) exempt from (D) make from

(E) keep from

24.The National Rescue Command Center shoulders a very important and huge mission in
peoples’ lives and properties.

(A) unwilling (B) overwhelming
(C) expressing (D) safeguarding
(E) protecting
25.Analysis of fingerprints is probably the most use of forensic science.
(A) exclude (B) famous
(C) well known (D) restore
(E) eminent

26.1f the victim’s actions helped the offender commit the crime, then changes in victim behavior should
assist in the crime.
(A) preventing (B) impeding
(C) existing (D) hindering
(E) hampering



27.Domestic violence often high level of police calls-for-service.

(A) generates (B) causes
(C) gives rise to (D) incidents
(E) incidence
28.Arrest remains an important in controlling repeat domestic violence.
(A) distinguish (B) tool
(C) method (D) extinguish
(E) approach

29.Guns in the hands of criminals and juveniles are crime facilitators that are of great
police departments.

(A) worry (B) enjoy
(C) concern (D) anxiety
(E) legal
30.The gangsters were during a police raid in a night club.
(A) busted (B) accused
(C) caught (D) premeditated
(E) apprehended
31.The DNA evidence was because of improper handling process.
(A) suspended (B) destroyed
(C) hurt (D) tainted
(E) granted
32.All his money missing.
(A) went (B) was
(C) gone (D) be
(E) not

33.Select the sentences that are written grammatically correctly.
(A) There are 10 detectives in my unit, including my son.
(B) There are 10 detectives in my unit, my son included.
(C) There are 10 detectives in my unit, inclusive of my son.
(D) There are 10 detectives in my unit, my son is including.
(E) There are 10 detectives in my unit, my son is included.

34.Both Mary and | teach at Central Police University, so we are

(A) soulmates (B) colleagues
(C) directors (D) co-workers
(E) bosses

35.Smith finally stealing his father’s watch.
(A) talked (B) considered
(C) owned up to (D) admitted
(E) confessed to

36.Several studies found that police rapid response had little on clearance rate.
(A) preservative (B) effect
(C) influence (D) impact
(E) primitive

to



37.Whenever and wherever disasters and accidents , they can engage in rescue operation at
first minute.

(A) formula (B) take place
(C) happen (D) occur
(E) random
38.The public police of every country are the of the peculiar social, economic, and political
history of that country.
(A) result (B) steep
(C) outcome (D) consequence

(E) hesitation
39.There is a range of methods that can be applied to the comparative study of policing, which can be

as case studies or statistical analysis.

(A) sloped (B) classified
(C) episode (D) vanished
(E) categorized
40.The government may lack the to control its territory and maintain social order.
(A) competence (B) considerate
(C) capacity (D) capability
(E) ability
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(A) 9.2 (B) 9.83 (C)9.76 (D) 9.53
2T AL L LB AT B S AR T 0

(A) H.0, (B) H.0 (C) NHs (D) N2H,
3. TP B F B ?

(A - § (B)# i 49 ~ibitgh (C)d § 40 ~ BAL4T (D)S ~ 4F
A7 ME S st o P F R ?

(A)NaCl = 2 & &+ 3¢ (B)E L& 5 atr e B [ onge B

(C)% BL#i & 4 1% (D)= 1% Na #6 B Cl ¢ [
5.C3HO nbp—r;'l‘z?f@ Wit &5 9

(A)fin (B)*= (C)r% (D)
6.% ~FhRhF 3 3BT FEE  HE ML F A ET D X R F AT

(A) Al (B) Si (© Cl (D) Ar

7.¢ vt HA 2 HB éh K, B k=t 5 1.34x 10 ° 2 1.51x 10 °° 4 %020 MHA 2 0.20 MHB % %4
fme o RiReRRY [H] 507
(A)1.1x10°*M (B)1.7x10°M (C)22%x10°M (D)3.3x 10 °*M

8. 24 Cpr o kenkefr f M5 22mmHg » MK BF A B § o e Behf MRS 5 755
mmHg > Rl § # &R G# 7

(A) 755/760 atm (B) 760/760 atm (C) 733/760 atm (D) 777/760 atm
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WmEPERT > FHikg gff* v ?

(A)200K (B)180K (C)160K (D)140K
12283 5L £ 700 2 F 2 o kg X 8 5 5 9
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(C)1.45 x10°Hz (D)1.45 x10°*Hz
133w N O F > Cldfa~2eha F8fed > B oml B ?
(A)CI (B)O (CN (D)F
1454 - kR 5 0.10M 5% 48p: > 2 pH & 5 4.0 Pl 4 s Ka @ E 55 7
(A)1.0x 107 (B)1.6 x 10”7
(C)1.0x 10”7 (D)1.0x 107

15. 5.35g thg i 4&ip 3ok o el 5 LOL evRig R o R Bk ehpH @45 > 2 (° 4w NHz 2 Kb
% 1.8x10°? (N=14,H=1,CI=35.5)
(A) 1.33x 10° (B) 7.7 x 10"
(C)1.35x 107 (D) 7.5x10°

16.% % # 240 mL 55— ] 34 454cF 30 450 A1 P 22 300mL 5k — ] L S4BT & 5 SRR 2 (B
K2HFATEFH)
(A)30 1) (B)6O #) (C)75 %) (D)90 %

17. 1 = g% ¢ 7 0.1mole prft (CH;COOH) % 0.2mole fisfedp (CH3COONa) » At i3 i 2
L ) 0 ﬂllfaﬂguéz‘? (2 Ka £4 1.8x10°)
(A) 3.6 x 10° (B) 9.0 x 10°°
(C)3.6x10* (D) 3.6 x 10°®

18.F - B4 T # > ST 4E2 > 0.00M AR % ¢+ 4F T2 LOM ARptdrip iz @ » RIS T
R 25 2 (Zn* g + 26 —>Zn E°= -0.76V » Cu** +26'—Cug) E°=0.34V)

(A)1.10V (B)0.97V (C)1.13V (D)1.16V
19. 77 2 L 46 ¢ > ABLE B A IR L L4 Q

(A)D = = (B)& ~ (C)E ~ 2z (D)&7~ %
203+ % 0.200M Na,SO, 73 ik £ 25°C F 2 BB » T 7| fe ¥ £ L fEen ¥ % ?

(A)1.12 x 10°mmHg (B)14.7 atm

(C)3.7 x 10°mmHg (D)4.9 atm
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23F F U FFRELERKEF 24K L F BB F R Aork 0 mE B AE?
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(C)Hag + % Oy — H20(g+ 243KJ (D)Haq + % Oz — H20( * AH=-243KJ
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24.°F )71 ® ﬁ*’?ﬁ ?
(A)Fr? (B)## ik 4
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(B) &
25 TN E ARG MR o P F LAY
(A)CH3COOH > CH3;CONH; (B)CH30OH > KNO;

(E)HCOOCH; > CHsCH,CH,CHs

26.3% T fgj‘,;‘i ok AgC|(s) = Ag+(aq)+C|_(aq) LI N IPSNES < AgCl(s) Rl RIP =S U '%f T FE?
(A)T G Hics = (B)-* =7 4 #
(C)F =¥ 7 % (D)i% fiz & >
(E)i3 f3 2 o id & 4% B 4 40
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CU 3% 224110V, ¥ E°(Zn—2Zn*") =076V » E° (Ni—Ni*") =025V s 11T 4
U LY
(A) E° (Cr—Ni*") 4-0.49V (B) E° (Cr—Ni®") % 0.49V
(C)E° (Cu—Cu®") % 0.34V (D) E° (Cu—Cu?*") %-0.34V
(E)E° (Cr—Cr*") 4 0.74V
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34.[CO(NH3)sCl]SOspqy B~ Bas - &4 » B30T enlb 7 > T A|H it @ —‘Fl’]l_‘l pr e
(A)%: » AgNOS(aq)g A4 AgCl o (B)ﬂ: » Ba(NO;J,)z g A4 v d AR
(C)? w & Jf Co ehF i #c & +3 (D) i+ & ¥ ene AN 5 HE
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BT AL gk E A ] o P E A

(C)NHs< BF; (D)H,0>H,S
(E)NH3;>H,0

36. TG &R AT LAt YDA
(A)K" < Na* (B)F< F
(CN* < O* (D)Se” < §*

(E)AIF* < Mg?**
37.% — F J& * Nyg+Oyg —2NO(g, H = +21.6Kcal » T 7|wiit F] & 5 (L 7 1 ¢ 4 S ek B3 & 92

(A3 4o 8 B (B) 4 4o B¢ 4
O+ 3 4 ER (D)4c » f it |
(B)i ~ B &

38.7 7 F M 3o [encid o P T AE 7
(A)Bev F2d 35 5 eng RALA T 1U0LrRghs £ 3
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(C)d-v Ik PF 2 4 Fadk s I
D)ds Finiev & & Bis b4 S g
(E)d-v Ferikapeg A4 5 ¢ Ak
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(A) 15P 3E‘ = beta 'f‘ % o 16832 (B) NlS_II 3 :fC f)‘%é A C13
(C) U™ beta # % & Th™* (D) 10K & =+ FIER 1sAr'?

(E) s, T2 4y y b ~ % 7 5

404+ 989 - v+ & 1.8 ek ARfk 500 mL » T At e ¥ B AE 2 (S=32)
(A)% % 882 1H,S0, (B)5 % 118 1 H,0
(C)5 + 18mol 1 H,S0, DO)E AL EER L 18M
(E)iz i e £ % 900 g
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Cfs d #F £33+ 1,500 T =3 e b2 A3/
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A s - SRBFFFEERZ8EANT I B A7 A ho B s B 3 p
B)Fr o g 5 R 1o m 2

(CO)F v T =i e & 100 = 4 12 p

(D) o A4 e 303K B feps B

106 & ST % 2RARBEBE LA T A
(A)% A REAF 3] 2 & 90 FEAF 8 1
(B) i 5% & H) BB AR PRI 46 4
(C)# < Fpmeim {1l 1
(D)2 14 L

1.2 T T B fiz | 28
B )= <RI
BIp = 02484 7
(A)5 = (B)6 = (C)7 = (D)8 =

RRp T2 pg% P2 PR3 RFMASE T I TR EREFEL 22 | 2 R
R T FERFITERR TR ORI E A FRFAS T O REALATRTEFREER
%io@ﬁ%%iﬂb?%é@oTﬂ@ﬁﬁﬁ?

(A) a=128 ; b=1,000 (B) a=120 ; b=800
(C) a=80 ; b=600 (D)a=40; b=128
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Pl 5 Y
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1.A captain who killed his crewmen on the ship was sent back to Taiwan for

(A) jury (B) trial (C) trace (D) attack
2.Many people in Taiwan believe that capital punishment can crime.
(A) deter (B) perpetrate (C) confiscate (D) decay

3.Mllicit or contraband materials such as weapons or drugs found in a public place may be seized by the
police without a :
(A) power of attorney (B) waiver
(C) warrant (D) subpoena

4.Tony threatens Peter by saying, “Give me $5,000, or I will cut off your fingers next week.” What
crime has Tony committed under criminal law?

(A) Burglary (B) Extortion (C) Robbery (D) Homicide
5.The police department made a statement apologizing for its officers’ :
(A) cautiousness (B) courtesy (C) discreetness (D) misdeeds
6.John intentionally burns Mike’s house. What crime has John committed under criminal law?
(A) Larceny (B) Arson (C) Embezzlement (D) Perjury
7.When visiting any website, you had better not give away your information easily.
(A) confiscated (B) confidential (C) counterfeit (D) consecutive
8.She cheated people out of their money time after time and can be called a through and
through.
(A) swindler (B) defendant (C) cohort (D) heroine
9.Jane’s childhood was overshadowed by her mother’s in a woman'’s prison.
(A) importation (B) incarceration (C) inadmissibility (D) indictment
10.Making people believe that they are buying a product, then accepting payment but not providing a
product is :
(A) robbery (B) theft (C) forgery (D) fraud
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The police engage in too many high-speed chases, many of which are unnecessary. A(n) 11 is
more 12 to occur when people drive too fast. Officers should 13  the severity of a
suspect’s violation before a pursuit. 14 criminals should not be chased if it posesa 15 to
others.

11.(A) traffic (B) operation (C) condition (D) accident
12.(A) reasoning (B) reckless (©) likely (D) appropriate
13.(A) assume (B) assess (C) arrest (D) appear
14.(A) Non-violent (B) Excessive (C) Violent (D) Discontinued
15.(A) safety (B) risk (C) nature (D) warrant

16-20 B 3% P15 ;‘ﬁ—fﬂ:ﬁﬁ{i  EE- BRGEES o

It is not always understood that the term physical evidence embraces any and all objects, living or
inanimate. A knife, gun, signature, or burglar tool is immediately recognized as physical evidence. Less
often is it considered that dust, microscopic fragments of all types, even an odor, may equally be
physical evidence and often the most important of all. It is well established that the most useful types of
physical evidence are generally microscopic in dimensions, that is, not noticeable by the eye and,
therefore, most likely to be overlooked by the criminal and by the investigator. For this reason,
microscopic evidence persists for months or years after all other evidence has been removed and found
inconclusive. Naturally, there are limitations to the time of collecting microscopic evidence as it may be
lost or decayed. The exercise of judgment as to the possibility or profit of delayed action in collecting
the evidence is a field in which the expert investigator should judge.

16.The one of the following which the above passage does NOT consider to be physical evidence is a
(A) criminal thought (B) minute speck of dust
(C) raw onion smell (D) typewritten note

17.According to the above passage, the rechecking of the scene of a crime
(A) is useless when performed years after the occurrence of the crime
(B) is advisable chiefly in crimes involving physical violence
(C) may turn up microscopic evidence of value
(D) should be delayed if the microscopic evidence is not subject to decay or loss

18.According to the above passage, the criminal investigator should
(A) give most of his attention to weapons used in the commission of the crime
(B) ignore microscopic evidence until a request is received from the laboratory
(C) immediately search for microscopic evidence and ignore the more visible objects
(D) realize that microscopic evidence can be easily overlooked

19.According to the above passage,
(A) a delay in collecting evidence must definitely diminish its value to the investigator
(B) microscopic evidence exists for longer periods of time than other physical evidence
(C) microscopic evidence is generally the most useful type of physical evidence
(D) every evidence is likely to be overlooked by the criminal and by the investigator

20.As used in the passage, the phrase well established most nearly means
(A) well installed (B) well known
(C) well erected (D) well instituted
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21.According to the , levels of crime are at this moment getting lower.
(A) altitudes (B) numbers
(C) collections (D) figures
(E) statistics
22.Hackers were trying to an important document on a computer in obtaining a benefit.
(A) alter (B) misconduct
(C) steal (D) offend
(E) fraud
23.1t is important for everyone, including police officers, to drive
(A) aggressively (B) carefully
(C) safely (D) carelessly
(E) cautiously
24.Most countries require tourists to have a(n) passport to enter or leave.
(A) illegitimate (B) important
(C) eligible (D) valid
(E) legally binding
25.The police caught the tourists who had a suitcase full of objects.
(A) prohibited (B) banned
(C) automatic (D) smuggled
(E) illicit
26.The narcotic detective the man for weapons.
(A) frisked (B) disturbed
(C) patted down (D) searched
(E) put out
27 .\Whenever possible, have someone you when you use ATM at night.
(A) restrain (B) walk with
(C) accompany (D) escort
(E) go to
28.Apps and websites that do not protect their users may be under the new regulation.
(A) handcuffs (B) blocked
(C) spread (D) enclosured
(E) fined
29.Narcotics investigators a drug deal who carried 30 kg of controlled medications.
(A) provided (B) cooperated
(C) interrogated (D) violated
(E) questioned
30.For your own protection, shred documents containing information before discarding.
(A) classified (B) financial
(C) reasonable (D) explosive
(E) vertical



31.I've been twice and all my money was cleared out.

(A) mugged
(C) robbed
(E) suspended

32.Police officers captured several
(A) protesters

(B) stole
(D) fired

who tried to make people take part in a demonstration.
(B) hostages

(C) alibi (D) rebels
(E) agitators
33.The drug dealer was found in possession of cocaine and got during a police raid.
(A) distinguished (B) apprehended
(C) arrested (D) forced
(E) busted
34.John was illegal substances at the internet café and got caught.
(A) looking (B) distributing
(C) selling (D) suspecting
(E) manufacturing
35.He was arrested for using ID.
(A) forged (B) fake

(C) treasured
(E) sculptured

(D) counterfeit

36.When police officers arrived at the scene of the deadly crash, they learned there had been one

(A) fatality

(B) death
(C) celebration (D) attraction
(E) birth
37.0fficer Chang walked 8 miles today. She never guessed that she could walk _ far.
(A) that (B) this
(C) such (D) as
(E) so

38.0fficer Huang seldom makes a patrol in the morning.

(A) So does Officer Chen.
(C) Officer Chen doesn't too.
(E) Officer Chen doesn't either.

39.Though the policeman
arrested him on the spot.
(A) was of service
(C) was on duty
(E) got off work

40.The program deals with drug addiction, juvenile delinquency, and issues

(A) link with
(C) related to
(E) link up to

(B) Officer Chen is too.
(D) Nor does Officer Chen.

at the time, he recognized the man as a wanted criminal and

(B) was out of service
(D) was off duty

(B) relative to
(D) associating with
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A

i1 |LARAEE 40480 % 13 20485 H - E#4E 521 3 40405 S EBA(E %+ 41
T B0RELEA H) e
2H-EHAFRL2 Ao e BREEFEY NG - BELASEGEE oo D
| EARGENEREN RS B L AR - AERF SR R R
R EHFFEB2A %%iﬁ Blae USAEA 13 BE LR A
BAEERA I FEI A I BREF R DG - BEIRS ARG Y P R
i ég’*ﬁ?ﬁjg%—é’ﬂ%’?ﬁé?ZB {;r:ili_g%—{'-F}la {%Lé%nf’gm{—%#%%]ﬁ&o
EHEFALLIA D FHF - EA 0 LEEUSIA S FRF - EH 4 0 Ll 154
B R R LR
B4 a5 F

- N E- R (FH2A 0 £ 404)

LEFHLAEBR R4 B2 HEFHFRE A4 i F oo™ !
C6H1206(aq) - 2C;Hs0H(aq) + 2C0O,(9)
i HF 210 7§ #BE(CeHwOe) i (70t 7 P » 97 22 5 g ¢ fF(CoHsOH) ?

(A) 2.68 (B) 5.16 (C) 10.7 (D) 21
2- BEEFEY > TRV BHcCEE FIR R R

(A)F Jo# (B)i 7 i ip ()T # ¥ #& (D)7 fsi =

’j‘ip”"—""""ﬁ?ﬁw%”ﬂ‘zgcu TR ?

(A) [Ar]4s*3d’ (B) [Ar]4s'3d™ (C) [Ar]4s°4p°3d® (D) [Ar]4s*3d®
AOH T3 chff+ e~ ¥ S8~ R+ 8> 2= 2@ 2 (¢ 70 'H)

(A)9-~9-10 (B)9-8-10 (C)9-8-9 (D)9-9-9
53R ARG ANERMELFEZHEE L I Faivt 4 S 9

(A ta-f E iR+ (B)a 4iv™ 4 (C) & t&- 18 1 4 (D)~ 44

6. 27°C B > #-14g % # (N B3 £=14)22 16 .5 # (O B3 £=16) > £ ¥ »+ 15 2 4 ¢h

P R A FRMAT RS RS S50 < F R (atm) ?
(A) 0.41 (B) 0.82 (C) 1.64 (D) 16.4

7.7 3% ¢ we o d e rin3 'l};f* %ﬁ%gtg 1")-La H P gk ol X+Y+Z 2 [T 559
a.P=836mmHg; V=X =2 ;n=011mole; T=27°C-
b.P=Yatm:;V=82mL;n=0.025mole; T=17°C -
c.P=15atm;V=500mL ; n=0.075mole; T=Z°C -

2 e o
E L FRE

(A) 21.9 (B) 131.7 (C) -251.3 (D) -141.3
8.2 4 Zn”(aq) + 2e—~2Zn(s) E° = - 0.76V » Cu** +2e—Cu(s) E°=0.34V > B| ¥ J& Zn + Cu**—Zn"*+ Cu
T B G 5 RE?
(A) +0.42V (B) -0.42V (C) 1.10V (D) -1.10V
0.7 7l ¢ e b ep i P E A BEWRIR?
(A) NH; F= NH,CI (B) CH;COOH 4= CH;COONa
(C) H,CO;5 4= NaHCO; (D) HCI 4= NaCl

EEACE !



10. 1 225 #3x ¢ 7 0.1mole frpt s 0.2 mole shfisfidh » 3k eh HOTER ? (Ffk
CH3;COOH 1 Ka & %_1.8x 10°)
(A) 3.6 x 10° (B)9x10° (C) 3.6 x 10 (D) 3.6 x 10°®

11,7 B F b = 7 A7 e e Wid e & 2 2 2R 9
(A)—r Bz (B)j/ﬁlz (C)~ 45 = (D)% & i

127 & PAEF WA RS f A2 § P bo HRRS  EAT K=448 X 102 #®
PCls §r PCls ¢h-T fmik B & %] 5 3.35 x 10 °M v 0.150 M » 33+ & Cl, 2T R 7
(A) 1.0 x 10° M (B) 1.6 x 10° M (C) 2.0 M (D) 2.0 x 102 M

13.¢c w®Cenp3 £ 5 12> BCeohp > £5.130034> @ tp A A° PC 58 9893%-C 5 &
F107% R ChImp I 45T 9
(A) 12.03 (B) 12.01 (C) 12.00 (D) 12.05

14007 F b s 5
CHa(g) +202(g) = CO2(g) + 2H20(/)
§E R BT R SR R ARG R S G ?
()i O shinsn e i 4o 47 0 Onfg) i 2
(B)# “/T\ B AT AT ok
(C)re- @I%M“F eF B 554 r CO,
(D)}; f@ ’\ J‘ __E%m$ /gj’}:a’ ¢ KEifT ’ \?’ ;}-d—/‘-;v%fi ‘]'Fl l% 14 , fum‘&’ggﬁg /}é‘

15.2 4 205(g) —>30,(g) AH =-427KJ
0x(g) —20(g) AH =+ 495K]

NO(g) + O3(g) —NO; + Ox(g) AH =-199K]

e b B NO(g) + O(g) —NO, (9) 2 & Jes#t -

(A) -131KJ (B) 267KJ (C) -165 KJ (D) -233KJ
16.d A F 4RI AIER| T 5] F ¢ 0 vR— (B A F dg ik ] (Cy, By, Bey, Liy) ?
(A) C; (B) B, (C) Be, (D) Li,

WA TF i —RRF T CFTE (RELTHA ) T8 FEEIA £ o f s ?

2AI¥ (aq) + 3Mg(s) — 2Al(s) + 3Mg?**(aq)
(A) HCI (B) H,SO, (C) Mg (D) Al

18.14 £ £ Ji; Cly(g) + 2NO —2NOCI () * 2 #-Clz kR 4 it » F i x 2 R ken2 & 5 % 2 B
F g i B ot BP0 F i SR S R kN8R R F B NO AT > HF RAEE S

509
(A)0 (B) 1 (€)2 (D)3
195 g™ 7lchd g w4 3 5 & 5 il 2
(A) 0.6 mole gz fédpia >t 1.0 L e7k (B) 0.6 mole g padpia >+ 1.0 L vk
(C) 0.6 mole =4 i 423 1.0 L sk (D) 0.6 mole =% i+ 452> 1.0 L &k

20.7 4& Co**/Co L B B T = -0.28V > 4% T 5| T 4 L T = £ 0.09V :

Pt(s) | Ti*" (AM), Ti** (IM) || Co*(IM) | Co(s) > B Ti**/Ti*" erie it B R T =8 % > 2
(A) 0.37V (B) 0.19V (C) -0.37V (D) -0.19V

EEACE Y,
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2L MR+ 27+ TR LY
(A)VH 28 7 (B)* FE3n %
C)E ¢ R+ m%”wﬁz (D)E>>7 B RF T F #ic

E)F el - BAR % aFFHEipl > a2 S8 FOBER

22.5 ML AR AL o T S ARt B Y
(M) e~k &~ Faidttd @ ™ L
B xH ~F i+ LjTd 2@ L kR
(Qkéiéﬁi—%ﬁﬁ__ﬁT@ﬁ
(D) FH ~Z HT f AR A #ﬁ?@ﬁ

(E)Ir & en & il = F?*%Htm o

23. Jfrz#%\,p ﬁ*)fgxé' Rl s T34 %‘rm J\/F’”QM L A TR E @3;&4 PR 9
(A)# s (HCI) ff'ﬁ fé 41 (AgCyH30;)
(B)# i 42 (BaCl,) ﬂfrﬂ’ﬁ_‘rﬁﬁ, (Ca(NOy),)
(C)rm it 4% ((NH,),S) fe& 45 (I1l) (FeCly)
(D)Fifedh (NaSO,) o fe4s(1) (PH(NOs),)
(E)& § i 4n (KOH) fes) fedsi(111) Fe(NO3)s

24— B G AT R UL RRT o ¢ XA g HF 0

(A)AG<O0 (BYAG>0
(C)AH<O (D)AE>0
(EYAG =0

A RIEE RPN P B R F LRT Y AT § P kSO R T A T
LB e (FF e §FRF ) BRE F &f‘—l%?iv‘ %7 168g 1 LIOH(s) » & * 24
P PEEEES e rd 121 g s ¥ YR BT A4kt e K i ? (Ah+ £ ' Li=6.95)
LIOH(s) + COx(g) = Li.COs(s) + Hzo(g)

(A)- & LiOH ## 3 ¥ v Jz 154 g CO,(q)
(B)- & LiOH 3 ¥ = fx 142 g CO(q)
(C)-  LiOH 43 ¥ = fx 168 g CO(q)
(D) * 24 | p& 7 LiOH 4+ bul:c”“ £ qiE 79%
(E)i¢ * 24 | pFi LiOH 43 w2 fc 3 m 72%

26.7 M CO, 3 ¥ Kenf B » ™ o vk 5 1 Fg 7
(A) CO, iz 3 kemg 2ok o mOZ@" R
(B) CO, iz * keng &2 KB B = 1t
(C)COyip k¥ » }wpni"’”pH‘ B =
(D)#-7 COpefvk4e#t » B pH iE 5% +
(E)CO, 17 7 s RiIZIRTUBFER S P R =

27.5% 5.0t fig (,ﬁﬁ‘ C,HsOH) g7 5 - %g Bk 295 K) £ > BT P4kt fa—%‘fﬁléi?
(A)= 23 e fig ¢ 2+ 5 1360 kJ 5
(B)# &2 che fi ¢ 2L ¥ 680 k) chg £
(C)e f AH + -0.68 MJ
(D) B33 chipphk %4 ¢ §8 4 453K]
(E) ®_43 et 2 ¢ $8 2 453kJ

_‘._,-

2
A
2
R

}\
R R

N w;
'7‘\“\ "i"\
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287 7§ MR Skt v b A7
(A% Licked - Bsfus 20 FABshE  $3AMF = Bshuss
(B)T & PE S * Fuis ek @ 4v M HRST
(C) p #usb eI ¥l P ¢ HE N erasf 4o @ 3 40 > 7% T 3p FUI e FHIR 2p Ui e %
(D) s #uss 7)1k B A 3k A e

(E) 3s s #x 25 #us ~
20.7 AR oG 7 G fRIE SR B AT
(A)% (Nz) B)&# (Fy)
(C)x itz (HF) (D)- % L& (CO)

(E)’k (H.0)

30.7F FvRiL B L ehf it ©
(Afr& B F k¢ 22 CO; (B) ik @ B+ S
(C)%,zr@ag € dp T A pL R > o d (D) ffrrife @ F A 2
(B)ss ik -k @ fRdis B & dode 5 g

BLAEH M 2 AT 5 © (@ MR BB BEEZ R LB S EOERRE > ok TR 4 P
27929 g > BT St w2 FE? (RS £ 1 Fe=5585 Al = 26.98)
SEEE A T GRS 1 Fe,05(S) + Al(s) — Fe(l) + Al,Ox(s)
(A)Z & ¥ 30g =F i 45 (111) (B)Z & 4 40g 5§ it (111
(C)Z & ¥ 10g 4% (D)% & 4 8g ch4r
(E)2 &+ A4 27.92g crufi 2 ug 4 A& B X & en§ it 48 2559

32.%% M3 R e pH EF > T R UREE (L & 4 R 1R R § B e ?

*H

(A) AgCl (B) Fe(OH),
(C) AngI‘O4 (D) Pb|2
(E) CaC,0,

3BEAR S 2T°CHA 5 150L ey B9 > 77 48194 § %2 4039 % 5 R &EF 4> BT sl i
+ & F& ? (molar masses: He, 4.03g; Ne, 20.180)
(A)% # » & 5 3.28atm B)% # » & 5 16.4 atm
(C)% # ~ & % 3.91atm (D)% R % 22.96 atm
(E)% /& 5 19.68 atm

BATAF M —BRF BT EF 2 Ao Y TR ?
(NF  —BRF 2T 5T H
B)F i 5§ s+ (24 E3)
COFfi2rapr d-7FHECFaELXF " DT KA
D):ER 2§ M4 (22 73F)
(E)?Tbg?ﬁﬂ’{i “—BRE R ihgﬁﬁ‘-"?ﬁﬁfé&ﬁﬂjﬁﬁ-qﬁ

35.7F 7| ;u'/% ;t’g:g;}’g_;; <] - Jﬁz S P ?

(A)% - #aic Li>Be (B) % - #4i N>O
(C) % = #4544t Na>Mg (D)% = Pt Mg> Al

(E) % — #4%tic Na>Ne
36.7F Sl FoR P R RA S ) g R B L D9

(A) KI > Pbl, (B) Ba(OH), > BaCO;
(C) NiS> NiCO; (D) CaCO;> Ca(OH),
(E) SICrO,> Sr3(PO,),

$a 84



377 FRIA R Bk 5e 33 PE R VR L I FE 9
(A)ig 1+ BaO>K,0> Al,03 (B)# 1+ CrO3>Cr,03>CrO
(C)p4 = BF;>BCl; (D)ps 1+ Fe** >Fe®
(E)ﬁﬁ ’H'_ H3PO4 > H3ASO4

38.4F 3 B g B E A AL 10 79 kl/mole> m 4reni B % i 4 §_293.4 kJ/mole» 3% 7 74t gz e —‘F*f Y e
(A) e ¥ A 2LpF Jf2218kJ*Jab:Iw200g e4E 4o 1T (b
(B) 10.00g AR RS A H W et F gk ]T§ 4.00k] e
(C)0.21 x A erspa H Jl ooy gy it g & 2,26k e
(D) e ¥ A 2EpF - 57 & 10.79kJ A it :I-PZOOg E4E 4 1T 1L
(E) 5.00g =48;7% %8 A& H & §F 8 B B T T 2.00kJ

39.Pbl, (Kg = 7.9 x 10 » Pb=207) 7 5 rg AL G AN N PO ) s
(A)* % -ke 3 f2 > Pb?ER % 89x10°M
(B)*+ &4 -k ¥ i 2 > Pb®E & % 269 ppm
(C)Pbl,*+ 1.0M Nal -k;3:% ® % & > Pb® ek B 2.7.9x10° M
(D)Pbl, > 1.0M Nal -k 7% i% © % f& » Pb* sk & €_1.63 ppb
(E)Pbl, >+ % -k ® 4 f2 » I'erik B 5 330ppm

401‘&:‘3{'”%%94}3#5}%“”/’9\*5“ C.H GO’MTMK-;BLJ{#-*”’ A FEFIEr 4 FE > 4k
FET OGRS FLAT 0 P LAY
(A)= 7 AP s 5 (B)= 7 A4 Bl 3
(C)e prin 5 423 (D)z f& ™ Bhin B
(E) %325 § & 4

2 HBERMABOREARE
iWL%ﬁ%“%%%ﬁﬁE%#%
o SN BRAR B HE AR
Line@& 3% - @gaofeng
g 07-236-7296
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PLERAR 108 RERELFI - E ML X B R

REHGEAFBBREAE
4 BN 4 ﬁWLﬂ&a HAREEA A
R /}’ - S Mﬂv;z)ﬁ%
3L MR (¢ N LlneC'l’waE @gaofeng
ﬁ B J\ l\g #B&ERE L 07-236-7296
e 1*\&5%\* 4042 % 12 20855 H- EH/A . %21 1 4085 S EERM(EET 5 41
80%\;‘?7‘?)“
2.%E ERAE AR 2 4 oA BREFE O HP NG - BEIAES B o B0
| ARG NEREN R B HLAFRF I R- RS R PE RFERY
Foo FHEREELE 2R %%iﬁ EIE VR RO R
3.5 £/ FAL 3 A 5 AT i FERx 20 - BEIRSSGE o B
T ARG ESES A BHEYAEI I I F-MBEEI PR REREL
FHEFRSIL S FHE-ER Y LEFUSES D FHF - E0E 0 Ed 154
SR %‘é%ui’:&fo
P lahEs 5T -

- N E- R (FH2A 0 £ 404)

LB e EHm s f B2 2% T - BT RF MG EE AP E hF 0
(A)e (B)e % (C)e = (D)7
2455 M2 GG B XGPS T A AR PETRIZAESRF 7
(A)30° (B)45° (C)60° (D)75°
3. % MEF § Waterman 247 % > BH Z V7 AP RE > HE FRREHRILE NS T
ol r)
(A) 2KW/cm? (B) 20 KW/cm?® (C) 2KW/m? (D) 20 KW/m?
AFFERFT LM GHMATEGEL Qom0
(A) 107 (B) 10° (C) 10° (D) 10"
5.7 7| ¥ B4R ‘? ,fa%zig;\,]\gyl\'ﬂbﬁ (mj)ﬁx @5;}}1 ‘0
(A)e % (B)e = (C)e & (D)= & mt
?ﬁ’f’*’%@ﬁia ’ ‘? b-ﬁkﬁ’s J B %’?? IRy ﬁ_,/” ‘4,5. oS E (A) ?
(A) 40 (B) 45 (C) 60 (D) 75
TR ELAFRT 2 FFMIVEMY 2 4er 50 (V) 2 CO w7 Fr L £ 7
(A) 0.1 (B) 0.2 (C)0.3 (D) 0.4

BRHfa - & 465 (L HB TP X 2XAKEARE) #Tom2 5 = fichk > T AR F AR S Faok
R NE R RAL fRF L BT A ?
(A) H3PO, (B) H.P,0; (C) H,PO; (D) P,Os

0. (LHHTHPFE 2RAREHE) $ o ¥ 198 F2 R - F MR VRATREKERN
T A AR kA s i T S RIS 2
(Rt ~ &b - 4 (B)&: (44 ~ A « FoA
Orzfasprar S22 T O)reriax ey &

10. i’aﬂr’:ﬁ;ﬂ’ 2o LR S gl iER > WRES e r 75 EH ML T ELEY 22 H &
CEE(p )R E R R G B2 ok 0 T AR M 2 dr ik ’E}”‘i’]"l?’jﬁﬁﬁ?
(A) Na>K>Rb>Cs (B) Cs>Rb>K>Na
(C) Cs>K>Rb>Na (D) Cs>Na>K>Rb

i



LA RfEGZ L per & s g RER R FE- R B F 2ok frleb FREFET 5777
PRSE B R &7
(A)F =8 =% gl & (B)# w2 % bt &
C)% 1 s =% pratr & (D)% » 522 p e 5
RTAFTREFMAFFETFLREF 0 P HRF ()T UMY
(A F (B)- ¥ i &k
(€)® (D)= p
Bﬁ@tﬁ#~$*~ﬂ$\ﬁﬁ‘@ﬁ1%’ LR ANE Y Rk a&wﬁﬁﬁ’M¢
T2ewa o rt ;Fi/{v‘""%iﬁﬁfﬁﬁg’ﬁ_ Mo TARAARE AT e G E(Q -
cm)ﬁx P BERE 2 T ?
(AT F (B)&
©) (D)% i #
14.7~ 7| & E*’\&ﬁé‘,{ e 47§82 W@%‘%"l”iﬁxf;%’?-’ 79
(A # &5 pl i i (B)st 33 \&%‘G o 4
(C)RIB&R 3 (D) &g 5 & 2 4%

15. ik 5 & Bilyfig R_Thomas #74¢ 1} 2 ko A (Thomas Flashover Correlation) » % % 2= . 3 B © 3
BRZIa Frafi l0T 32 > gp 2820650 T3 2 Rtz g 4 s
R REFNSFF KW?

(A) 2,000 (B) 3,000
(C) 4,000 (D) 5,000

16. 2@ A PV RPEFIREABPIR P HER 2R - p AFF AR HRE 2 E
F % Thomas % 2 #7§ » %4 A R ¥ BT WaH A AZFR H’la A TR A5 ek
J_F‘?

(A) R=(5.5~6.0) * A* H (B) R=(5.5~6.0) * A* H°°
(C) R=(5.5~6.0) * A> * H (D) R=(5.5~6.0) * A * H?

17.%%&%&%%%1%%3’\' Lo FHERNE 21C Y FMNEAR S B2TC
12 kg/m®> ¥ HF B R L 20 2% > B VHEFER AR 2 BR4 S A2 3
LEF(EH4 i B =98m/s)?

(A) 147 N/m? (B) 187 N/m?
(C) 203N/m? (D) 223 N/m?

.3 i~

E:

18.F 7| A7 ¥ 2 P> TR E bR F 2 B VHES RN 0 T VEE BRGS0 - &
ERRELAE R S 7

(A)# i 4 (&$%%
(C)res (D) &=
19.1 # F Jis HytClL,—2HCL > 2t YHE(RF)2 F B® »Ch A% Ew £ ¢ awi- BE % 7
(AT 21 (B)£s 224
(C)# i GE &) (D)i 4% & Js(p o 2L)
205 F 3 ERFHRBETRERF AT IO ERARLANNG o2 AP AR
% CNS15030 " i* & ma g 2 fh7 > THRH AL 5 § 2 23 W7 7
E@
(A) (B) (©) (D)

g



SEERI:(FH3A » £ 604)
21 B FAR b R 2 4B T A P LA 7
(AL & zezg B | LV PFEL R AR R - 427 421F 15m/min
(B) L &3 & 421 700KW/m @ £ 3] 25MWIm 2+ B s # a0 5 8 e b g b d IR
(Q&%%W{’*iﬁﬁ%\%%ﬁ B
(D) ™ 24 447 ~ TRt ~ 3 7) ~ f 4 B xR
(BE)ftirrenp & B > e ﬁ* i 2 B er e ]
22.7 AR ERIF R F BRI
(A) L 2TRF (B) 7 A RF
(C)RIF 4 T RF (D)#5 A= B'F
(E)4 i+ RF
23. T A|E AP 0 514RE
(A)7= % <
(C)= 4 of i
(E)z # W&

24.% % 5B

Gt g utz ARG PH LY
(B)ix+ ie*
D)AMPFE2ZY L 2A 5%

b R R (PPM) R PERF T 0 HE X G ERE k2 koid o E B RE D

(A) CO : 400~500ppm > 1 /|- BF R L EER ~ vEos ~ p2eX 7 W

(B) HCN : 100~135ppm > 30 A~ ERT R

(C) HCI : 50~100ppm > “E&p¥ & T L A& 5 5%

(D) NO, : 150~300ppm » 5l 4= f & % ~ £ § & &

(E) HCHO : 50~100ppm » 5~10 4 4B M 514=§ & £ ~ 9 3 ~ E k58
257 5% M E g & 5 ﬁiﬁéﬁ%?ﬁ%iﬁﬁ%?mﬁzﬁﬁ’@ﬂﬁg?
(A) & Gtz s kF 3 BYk£2 B mTRE ™ G T
C) gy tFxas (D)teB F ~ B REH Y & *
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1.

Anyone who committed a homicide shall be punished in accordance with the Code.

(A) Civil (B) Penal (C) Financial (D) Administrative

At trial, the judge decided to dismiss the complaint and the defendant.

(A) discharge (B) disorder (C) dismember (D) dispatch

The in charge of the jail said that two inmates broke out of the jail last night. They
are now working with the police to find out the whereabouts of the two inmates.

(A) coroner (B) warden (C) plaintiff (D) juror

The drug dealer agreed to against the drug ring leader in exchange for a reduced
penalty.

(A) justify (B) testify (C) certify (D) notify

Domestic violence in a household is detrimental to the child.

(A) confidential (B) influential (C) harmful (D) ethical

The lawyer filed a motion to the court to release the defendant bail. The judge granted
his motion and set the bail at 1 million dollars.

(A)in (B) on (C) at (D) of

“Buckle up. It s the law. You may be pulled over if you are not properly buckled up,” highway patrol

officer said. Highway patrol officer is asking drivers to

(A) fasten seat belt (B) speed up

(C) keep a safe distance (D) avoid tailgating

The murderer was gunned down in the shootout by the police. He was pronounced on

scene.

(A) to die (B) dead (C) deadly (D) died

The drug dealer was busted during a SWAT raid. He was found in possession of 2 kilos of heroin,
authorities said Wednesday.
(A) arrested (B) shot (C) accused (D) coerced




10.The defense attorney filed a motion to suppress the DNA evidence, claiming that the evidence had
been contaminated due to improper chain of custody.
(A) retained (B) tainted (C) sustained (D) contained

Qs11-20 B Rl HF1HpHEL > EB- BEFFhE S -

DNA is a powerful investigative tool because no two people have the same DNA. The only
exception scientists have found to this is identical twins. The sequence, or order, of the DNA building
blocks is different in particular regions of the cell, making each person’s DNA unique. Because of this,
DNA evidence collected at the scene of a crime can link a suspect to the crime or can eliminate someone
from suspicion. DNA is similar to fingerprints, but has been considered more accurate for the past
decade. DNA can also link evidence to a victim by using DNA of relatives if the victim’s body cannot
be found. For example, if technicians have a biological sample from the victim, such as a bloodstain
found at the crime scene, the DNA taken from that bloodstain can be compared with DNA from the
victim’s biological relatives to determine whether the bloodstain came from that particular victim. When
a DNA profile developed from evidence at one crime scene is compared with a DNA profile developed
from evidence found at another crime scene, the crimes can be linked to each other or to the same
suspect, making it possible to link crimes committed at a distance from one another.

Although many forensic scientists had begun to think of DNA as a miracle identifier, in 20009,
scientists for the first time found that it was possible to fabricate DNA evidence from a person other
than the donor of the blood or the saliva. This means that someone could plant another person’s DNA at
a crime scene, causing the person whose DNA was found to be considered a prime suspect in a case.
While this does not mean that DNA evidence will no longer be important, it reinforces that solving
crimes must continue to rely on more than science to find a guilty party.

11. What is the primary purpose of this passage?
(A) to show that DNA is a powerful investigative tool
(B) to illustrate how the unique characteristics of DNA make different types of comparisons and
eliminations possible
(C) to teach the reader that identical twins have the same DNA
(D) to show how laboratory technicians develop DNA profiles

12. All of the following are true EXCEPT
(A) everyone, except for identical twins, has different DNA.
(B) the sequence of DNA building blocks is the same in particular regions of the cell, making
comparisons possible.
(C) DNA can be used for comparisons or eliminations of offenders from different regions.
(D) DNA from relatives can be used to identify victims,

13. According to the passage, DNA should be collected from a crime scene because
(A) it is better than fingerprints.
(B) there is DNA left at every crime scene.
(C) it can be used to eliminate potential suspects.
(D) DNA is a new investigative tool.



14. Which of the following conclusions can be drawn from the passage?
(A) DNA can be collected from sources other than blood.
(B) DNA can be collected only from bloodstains.
(C) DNA cannot be collected from bloodstains.
(D) DNA can connect crime scenes only if it is taken from bloodstains.

15. The recent scientific finding that DNA evidence can be fabricated is most likely to result in
(A) discontinuing any efforts to collect DNA at a crime scene.
(B) the field of forensic science losing its current popularity.
(C) the end of innocent people being freed from prison on the basis of DNA evidence.
(D) renewed efforts to find evidence other than DNA at crime scenes.

Many people confuse education and training, but they are not the same thing. Education is
knowledge-based and is defined as a body of academic knowledge that is most often learned in a
classroom setting. Training is coaching to become proficient in particular behaviors or actions.
Sometimes the two are confused because many training experiences, like a police academy, often
involve many hours of classroom instruction. Such institutions combine elements of education and
training, but the differences between the two remain. Knowledge is theoretical. Using a law enforcement
example, you can study the laws of arrest without ever having to arrest anyone, but you need to be
trained in handcuffing techniques if you will be expected to actually take someone into custody.
Similarly, you can study laws and court cases pertaining to deadly physical force without ever having to
fire a weapon. Training, on the other hand, is skills-based. It covers what you need to do, as much as
what you need to know, in order to perform a task or group of tasks. Learning when or why is not the
same as learning how.

16. The best title for this passage would be
(A) When or Why Is Not the Same As How.
(B) Education versus Training.
(C) The Benefits of Studying Case Law.
(D) The Importance of Handcuffing Techniques.

17. The main idea of the passage is that
(A) education and training are different.
(B) education and training are the same.
(C) people often confuse education and training.
(D) training is ineffective without the foundation of education.

18. Based on the passage, the activity most likely to be defined as training is
(A) studying for a graduate school entrance exam.
(B) learning the firearms laws.
(C) learning how to fire a shotgun.
(D) learning a foreign language.



19. Based on the passage, the activity most likely to be defined as education is

(A) learning how to drive. (B) learning the firearms laws.
(C) learning handcuffing techniques. (D) studying for the police entrance exam.

20. The word coaching in line 3 of the passage is closest in meaning to
(A) escorting (B) accompanying
(C) acting (D) guiding and drilling

S FEEBRW I (FHE3IL X 604)

21. Only one of the thieves who robbed the jewelry store was caught since his got away.
(A) accomplice (B) adversary
(C) cohort (D) associate
(E) foe
22. The violent offender was convicted of for using a baseball bat to strike his victim.
(A) voltage (B) battery
(C) assault (D) arson
(E) flattery
23. After the riot broke out, officers had to use proper measures to the angry crowd.
(A) instigate (B) incite
(C) calm (D) impel
(E) quell
24. Drunk drivers pose a serious to others.
(A) subsidy (B) threat
(C) shield (D) ward
(E) menace
25. Two stowaways were trying to a bus; but fortunately, they failed at last.
(A) hijack (B) jaywalk
(C) take hostage (D) piracy
(E) fraud
26. The future of policing by a number of interrelated factors.
(A) is going to determine (B) will determine
(C) will be determine (D) will be determined
(E) is going to be determined
217, , Officer Huang is brave.
(A) In spite of being a woman (B) In spite of she is a woman
(C) Woman as she is (D) Despite being a woman
(E) Though a woman is
28. Take an umbrella when you go to Keelung, for it rains there.
(A) most of the time (B) frequently
(C) most of times (D) as frequent

(E) much time



29.Select the sentences that are written clearly and grammatically correctly.
(A) Having finished the police report, Officer Chang closed the case.
(B) Having finished the police report, the case was closed.
(C) Officer Chang closed the case after he had finished the police report.
(D) As soon as the police report been finished, the case was closed.
(E) No sooner than the case was closed, Officer Chang had finished the police report.

30. Select the sentences that are written clearly and grammatically correctly.
(A) Of all the dogs in the K-9 Corps, Zelda is the most bravest.
(B) In the K-9 Corps, Zelda is braver than other dogs.
(C) Of all the dogs in the K-9 Corps, Zelda is the braver.
(D) In the K-9 Corps, Zelda is the more brave dog.
(E) Of all the dogs in the K-9 Corps, Zelda is the bravest.

31.The defendant was sentenced to five years in prison. He will be and serve the jail
term.
(A) interrogated (B) incarcerated
(C) imprisoned (D) put out
(E) put behind bars
32.According the the statistics, many sexual abuse cases are by offenders known to
the victims.
(A) located (B) permitted
(C) committed (D) perpetrated
(E) offered
33.Police are the death of the gang member and urge people to tip off police about
the crime.
(A) probing into (B) looking into
(C) investigating (D) looking forward to
(E) breaking into
34.The suspect decided to the police when he found it impossible to escape.
(A) turn himself in to (B) surrender himself to
(C) giverise to (D) get away with
(E) hand himself in to
35. Drivers should always the pedestrians at intersection.
(A) look into (B) look out for
(C) watch out for (D) catch up with
(E) run away with
36. Patrol officers saw the crime of hit and run and immediately started the vehicle.
(A) pursuing (B) chasing
(C) evading (D) running after
(E) looking after
37.Police said the fugitive to the United States to avoid prosecution. His whereabouts is
unknown.
(A) had fled (B) had absconded
(C) had escorted (D) had escaped

(E) had revealed



38.Any patrol officer on duty who sees the crime in progress can pursue the suspect and

Into custody.

(A) try (B) leave
(C) place (D) find
(E) take

39.Firefighters arrived quickly and within 10 minutes.
(A) brought the fire under control (B) put up with the fire
(C) put out the fire (D) distinguished the fire

(E) extinguished the fire

40.Choose incorrect and illegal driving behaviors from the following descriptions:
(A) to leave a child unattended in the vehicle
(B) to always drive on a sidewalk
(C) to exercise due care by keeping a safe distance
(D) to respect the right of way
(E) to use high occupancy vehicle (HOV) lane whenever you are in a hurry
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LRERFPF T o F S S B RPER R0 W R v A LR F
FRELGNE P - g0 T ELET T TS B S
(-) ElF B R P AL F
(Z)#7 i & B-di 1g & W4k 10mL > £ R * R4k o R T AP o
W OB A F IV Ry RERET AR AEREL ?
(A)e f @ (B)" fi ©)p e " (B)e *

1BASN L TF i —BRF BT TS (RA AT ) T LA L P ¥ i eh?

2Al 3+(aq)+3 M g(s)—>2A| (S)+3 M 92+(aq)
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(A)HF 4= KF
(B)HC3H502 ’f‘—" NaC;Hs0,
(C)HCIO 4= Ca(CIO),
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1. Simpson committed a crime. He is a
(A) criminal
(C) criminal psychologist
(E) criminalist

(B) criminal investigator
(D) criminal lawyer

2. Keep your seat belt
(A) fasten
(C) to fasten
(E) from fastening

(B) fastened
(D) fastening

3. At trial, the witness
murder.

(A) tested (B) codified (C) testified (D) simplified
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M LEMF A ERBEE HA
% 8N ERAE B PR
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. The driver and all passengers in the vehicle must fasten a seat belt.

that he'd seen two people leave the building on the night of the

(E) classified

4. Police announced today that the murder suspect was apprehended at his home. So, the murder

suspect has been

(A) released (B) arrested (C) prosecuted (D) convicted

5. “The fire has been brought
(A) into (B) under

control,” a firefighter said.
(C) about (D) above

6. The street protest turned into

(A) riot (B) risk (C) rise (D) rush

7. The traffic accident happened around 7 p.m. last night, and luckily all passengers

No one got hurt.

(A) suspended (B) suspected (C) succeeded (D) secured

8. Officers obtained an arrest warrant, but the suspect
(A) assisted (B) consisted (C) insisted (D) resisted

9. Ifjurors find a defendant
(A) innocent

(C) quilty
(E) systematic

, then that person must be punished.
(B) transnational
(D) cooperative

10. Paying an official to do something illegal is :
(A) alibi (B) bandit
(C) manslaughter (D) bribery
(E) theft

(E) extradited

(E) on

. Protesters blocked the traffic and even attacked the police.

(E) ruin

______ the crash.

(E) survived

the arrest and refused to open the door.

(E) persisted
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11. The traffic accident happened right in front of me.
(A) There is nowhere to hide.
(B) When did the snow stop falling?
(C) When did you get our haircut?
(D) The police is chasing the suspect.
(E) Was anyone seriously injured?

12. Are your colleagues at Da-an Precinct willing to stand by you?
(A) I can take you to your destination.
(B) Yes, it was hard to stand up.
(C) Yes, they will support me all the way.
(D) You should always stand by on the side.
(E) No, they are standing up for me.

13. How many people work at your police station?
(A) I love your stationary. (B) Ten people working on the committee.
(C) No seriously harm at the station. (D) There are twenty people in the station.
(E) There are five people assigning to the house.

14. What’s the fastest way to get to a police station?
(A) It is not in that direction. (B) I think the best team will win.
(C) I can read to you. (D) Maybe taking the bus.
(E) We’re going tomorrow.

15. Can you take a look at this report for me?
(A) I’ll do it later on this afternoon. (B) I will look after my little brother.
(C) The reporter is from the newspaper. (D) I'm handling the problem.
(E) You look very healthy to me.

16. When will you depart?
(A) I’'m planning a party soon. (B) She is my dancing partner.
(C) We can get going on it next month, (D) I will be back soon.
(E) 1 will be leaving in a few hours.

17. Traffic officer: Do you know why | pulled you over?

Driver:
(A) I’'m going to have to write you a ticket. (B) I have no idea.
(C) I’'m just doing my job. (D) I didn’t know about the date.

(E) I’'m not going to be able to do that.

18. Dispatcher: This is Officer Raymond, How may | help you.
Caller: Sir, my husband got drunk and beat me up. I am scared and | need help.
Dispatcher: Okay, where is your emergency?
Caller: # 1219 College St.
Dispatcher: | have a patrol officer around your location. He is on the way. | need you to stay on the
line with me, okay?

Caller: Okay.

Question: The caller was calling to report an alleged

(A) gang violence (B) spousal rape

(C) sexual abuse (D) domestic violence

(E) school-bullying



19.

20.

I

21,

22,

23.

24,

25.

26.

217,

28.

29.

30.

Detective: Albert, you said you saw the robber. We think we have the man who did it. We'd like
you to take a look and see if you can identify this guy.

Albert: Sure. | would never forget his face.

Question: According to the conversation, Albert is a/an
(A) suspect (B) conspirator
(C) informant (D) lawyer

(E) eyewitness

Raymond: I heard that Jason has been put behind bars again.
Sherlock: Well, that’s true.
(A) Jason likes the bar around the corner.

(B) Jason passed the bar exam, and will be a lawyer soon.
(C) He has been prohibited from drinking at the bar.
(D) Jason committed crimes again and was arrested.
(E) Jason decided to work for the bar again.

e HRREL  EB- RRETAER (204)

Police have identified the victim 66-year-old Karen Smith.

(A) as (B) of (C) for (D) with (E) at

The suspected drug dealer killed the victim. He was charged murder.

(A)in (B) to (C) with (D) from (E) against
Luckily the police arrived to catch the robbers, and the situation didn't end up worse.
(A) sometimes (B) over time

(C) intime (D) on time

(E) at times

Police response times to serious crimes were last year than previous years.

(A) fast (B) more fast

(C) faster (D) much fast

(E) the fastest

Mary Johnson is for armed robbery. Johnson robbed a bank in New York and fled with
US$2,000,000.

(A) want (B) wanted (C) wants (D) wantly (E) wanting

The minor disappeared at a carnival in Montgomery Park. His parents reported him an
hour ago.

(A) miss (B) missed (C) misses (D) missly (E) missing

He has twice been convicted robbery.

(A) from (B) between (C) of (D) with (E) in

The police arrested her drinking and driving.

(A) between (B) in (C) for (D) up (E) to

You will be remanded custody until your trial.

(A) about (B) in (C) of (D) to (E) under

The judge sentenced the murderer life imprisonment.

(A)in (B) on (C) over (D) under (E) to
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The body of a 30-year-old man was found late last night outside a night club. The man was
31 as Henry Stevenson of Boston, MA. Police have not found a 32 weapon, and
the body was apparently not discovered for several hours. “The corpse is in the morgue, and we will be
33 a detailed autopsy later today,” said John Thomason, Los Angeles County Coroner. “At
this point, I can’t tell you the exact 34 of death, but | can say that the victim had multiple
stab wounds.” Police say the 35 for this homicide is unclear and that they are waiting for
the coroner’s report.

31. (A) processed (B) represented  (C) existed (D) identified (E) established
32. (A) murder (B) suicide (C) kill (D) cutting (E) knife
33. (A) investigating (B) conducting (C) searching (D) informing (E) claiming

34. (A) make (B) outline (C) range (D) format (E) cause
35. (A) address (B) need (C) motive (D) consent (E) contact
Identify theft is a growing concern, but it’s not 36 . The following is a list of

preventative 37 that may save you from being another victim.

1. If possible, leave your debit card at home and use credit instead. It is more difficult to resolve

38 purchases made with debit than credit.
2. If you do decide to use debit, be aware of your 39 when using an ATM.
3. Carry your valuables in a travel pouch. Travel pouches should be worn 40 your

clothing for added security.

36. (A) unaccountable (B) unavoidable (C) unacceptable (D) unambiguous (E) unappealing

37. (A) enhancements (B) synergies (C) measures (D) productions  (E) combinations
38. (A) fraudulent (B) national (C) administrative (D) considerable (E) residential
39. (A) frontier (B) border (C) nationality (D) surrounding  (E) forthcoming
40. (A) top (B) bottom (C) with (D) beside (E) beneath
You have the right to remain silent. If you do say anything, 41 you say can be used

42 you in a court of law. You have the right to 43 a lawyer and have that lawyer
present during any questioning. If you cannot 44 a lawyer, one will be appointed for you if
you so desire. If you choose to talk to the police officer, you have the right to stop the 45 at
any time.
41. (A) that (B) what (C) which (D) why (E) where
42. (A) for (B) at (C) to (D) against (E) by

43. (A) consult with  (B) deal with (C) comply with (D) conspire with (E) keep up with
44. (A) offer (B) ask (C) afford (D) catch (E) bring

45. (A) confrontation (B) examination (C) prosecution (D) questionnaire (E) interview
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Ecstasy has been the drug of choice among many clubbers for more than a decade. They think
it’s fun, they think it’s safe, but now there’s worrying new evidence that the ecstasy craze may have
created an entire generation of people that are more vulnerable to brain disorders. New research shows
that ecstasy damaged brain cells that are important for movement, so-called dopamine receptors. A study
was done by examining monkeys’ brain activities after giving the dance drug ecstasy. Monkeys were
given a dosage of three tablets over nine hours. A normal brain is full of dopamine, but after the animals
were given ecstasy, most of the dopamine receptors stopped working. It can damage brain dopamine
neurons and may render the user more susceptible to developing Parkinsonism as they grow older.

46. How long has ecstasy been the favorite drug among clubbers?
(A) under ten years (B) about five years
(C) more than ten years (D) about ten years
(E) more than twenty years

47. Why do the clubbers like taking dance drug ecstasy?
(A) It makes them have a good time.
(B) It makes them stop worrying.
(C) It makes them laugh.
(D) It makes them fell worried.
(E) 1t makes them love everyone around them.

48. What link does the research make between taking ecstasy and brain disorders?
(A) People are scared of getting brain disorders.
(B) People are more likely to get brain disorders.
(C) A generation of people have already got brain disorders.
(D) People have already been treating for brain disorders.
(E) People are convinced that they have brain disorders.

49. How can ecstasy affect movement?
(A) by helping dopamine receptors
(B) by creating dopamine receptors
(C) by increasing dopamine receptors
(D) by damaging brain cells
(E) by moving brain cells

50. Which of the following would be the best statement for the passage?

(A) Ecstasy used to be a popular drug among clubbers but many have stopped taking it after some
negative research results.

(B) Ecstasy is an indifferent drug among clubbers and many young people are determined to take it
despite the risks.

(C) Scientists still have to decide if ecstasy can negatively affect other parts of the body as well as
the brain.

(D) Research suggests that ecstasy can negatively affect the brain; however, scientists still say that
more research needs to be done.

(E) Research suggests that ecstasy can negatively affect the brain and make people more likely to
get diseases in later life.
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1. Alotof money was circulating in the market. The police warned shopkeepers to look out
for forged notes.
(A) made (B) counterfeit (C) exclusive (D) nouveau (E) contaminated
2. Two firefighters were injured because of smoke
(A) inundation (B) exhibition
(C) inhalation (D) exploitation
(E) deluge
3. Tipped off by a police in Thailand, drug agents traced a shipment of teakwood
furniture across the Pacific Ocean.
(A) guerrilla (B) vanguard (C) informant (D) prophet (E) complainant
4. Immigration officers said that they are ready to those detainees back to their home
country.
(A) extract (B) report (C) repatriate (D) reserve (E) sanction
5. Some misdemeanors are punishable by paying a :
(A) patrol (B) fine (C) radar (D) car (E) trip
6. An act of deliberately damaging or destroying things, especially public property is called
(A) ventilation (B) vandalism (C) vocation (D) vocalism (E) vacation
7. An order to remain at home for a certain period of time is called arrest.
(A) house (B) home (C) family (D) restricted (E) open
8. ETC allows the traffic on freeways paying without stopping. What does it stands for?
(A) Electronic Traffic Control
(B) Engineering Traffic Control
(C) Electronic Toll Collection
(D) Engineering Toll Collection
(E) Electric Toll Control
9. Police lineup is the identification procedure to determine whether the suspect is the of
the crime.
(A) abettor (B) perpetrator (C) pickpocket (D) plaintiff (E) betrayer
10. According to the FBI, identity theft is the number one committed on the Internet.
(A) piracy (B) larceny (C) forgery (D) theft (E) fraud
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11. Police: What happened?

Pedestrian: As | came around the corner, | saw the robbers running down the street.
Police: Did you get
(A) the look on their faces?
(B) a look on their faces?
(C) to look in their faces?
(D) a look at their faces?
(E) a look of their faces?

12. Police: This is a one way street, sir. You have driven the wrong way down a one-way street.
Driver: Oh, I’'m sorry. I didn’t know that!
Police:
(A) Will you tell me the truth?
(B) You can say that again. How could you be so reckless?
(C) Didn’t you see any traffic lights?
(D) Didn’t you see the no-entry sign?
(E) How come you did this!

13. Officer Chen: Justin, let’s go jogging after work,
Officer Lin (Justin): We can’t unless we finish our report.

(A) shall we? (B) can we?
(C) may you? (D) will you?
(E) may we?

14. Foreigner: Why did you pull me over?
Police:
(A) I am glad to hear that.
(B) We are conducting a routine roadside check.
(C) I don’t feel like staying here.
(D) Everything is going to be okay.
(E) What is the question?

15. The supermarket caught on fire this morning.
(A) Really? What did she say? (B) Was anybody hurt?
(C) What about going for a ride? (D) How do you like the class?
(E) Any message for me?

16. Will you take a check?
(A) I’'m afraid we accept cash only.
(B) No problem. I’ll check this for you.
(C) O.K. What’s wrong with the check?
(D) Fine, I’ll take a rain check.
(E) But there seems to be something wrong with the bill.

17. Each year the world gets smaller and smaller.
(A) Have you confirmed it yet?
(B) So would I, if I got the chance.
(C) The Internet has a lot to do with it.
(D) Climate change is an issue.
(E) It’s no wonder it takes so long to fly to Africa.



18.

19.

20.

I

21,

22,

23.

24,

25,

26.

217,

28.

29.

30.

These days, kids have tough time concentrating on anything.
(A) It was a difficult test after all.

(B) I can help you focus that camera.

(C) Except for computer games and toys.

(D) The school holiday is too long.

(E) Children grow up very fast.

| heard that you were sick.

(A) Yes, I’ll be gone for a week. (B) Yeah, but mine is more fashionable.
(C) Neither did I. (D) Yes, it will probably rain.

(E) Yes, I had a cold.

If you find a thousand dollars lining on the sidewalk, what would you do?
(A) Are you sure you dropped it on the sidewalk?

(B) I told you it was mine.

(C) I thought I gave it back to you already.

(D) A police called me.

(E) I’d probably buy myself something nice with it.

ek FRBML  E8- PREE ISR (204)

The fugitive was sentenced five-year imprisonment.

(A) with (B) at (©) to (D) by (E) on

A man was caught a candy bar in the convenience store by police. He claimed to have
paid for it but was unable to show any proof.

(A) stolen (B) stealing (C) steal (D) stole (E) to steal
Lewis decided to study in the police academy he could safeguard people’s lives.
(A) if (B) in order to

(C) until (D) so that

(E) thus

The policeman impounded her car because she drove a(n) car.

(A) leased (B) license (C) licensed (D) unleased (E) unlicensed
Peter is vacation in Japan now.

(A) for (B) in (C) on (D) at (E) with
The news about Tessa very interesting.

(A) dose (B) do (C) are (D) is (E) have
Betty is sad because she did on her last test.

(A) poor (B) poorer (C) poorest (D) peaty (E) poorly
Jack can eat twenty hotdogs two minutes. Can you believe it?

(A) about (B) in (C)to (D) from (E) with
According to the police investigation, this accident the driver’s carelessness.
(A) arose from (B) resulted in

(C) originated (D) due to

(E) brought about

A dog is different a cat, but they are both good pets.

(A) from (B) with (C)in (D) for (E) to
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Coping with situations like out-of-control crowds, high speed chases, armed standoffs and hostage
dramas can be a dangerous process for police, suspects, and bystanders 31 . To reduce the risk,
researchers are trying to create and improve weapons that can be used without deadly force.

32 by paintball battles, researchers realized the same types of guns that fire paint could fire
pepper spray. The guns help officers keep their distance and avoid accidental 33 the chemical or
poisonous substance.

Another option under development is the liquid stun gun, which combines the concept of the water
cannon with electric gun technology. It fires a high-pressure saline solution and is electrified with 9-volt
batteries. And specifically, the liquid stun gun doesn't need reloading. Such weapons are generally
considered safe, although there's a slight chance that they could prove 34 to those wearing
pacemakers.

All of these new, non-lethal weapons are still in the testing and development phases. But researchers
say the products will soon be available to help law enforcement agencies deal with potentially

dangerous situations without unnecessarily 35 lives.

31. (A) likely (B) alike (C) the same (D) in addition (E) mostly

32. (A) Inspiring  (B) Inspired (C) To inspire (D) For inspiring  (E) With inspiring
33. (A) contact (B) contact with (C) contact of (D) contact in (E) contact to

34. (A) of fatal (B) to fatal (C) fatally (D) fatal (E) fatality

35. (A) endanger  (B) endanger to (C) endanger of (D) endangering of (E) endangering

36. | am looking graduating in May.

(A) upto (B) into (C) unto (D) forward to (E) so as to
37. The phone line is engaged. What does it mean?

(A) We got into an argument. (B) The phone line is busy.

(C) The phone went to voicemail. (D) The phone hung up on me.

(E) The phone didn’t go through.
38. There was a blackout last night; , We had to study by candle light.

(A) nevertheless (B) therefore

(C) similarly (D) sincerely

(E) furthermore

Mistaken eyewitness identification is the major cause of 39 innocent people. This is not to
say that witnesses are insincere._ 40, normal functions of the human mind tend to distort memories.
Memory can be broken into three stages: acquisition, storage, and retrieval. During every stage, people
may make errors. At the acquisition stage, memories are colored by witness anxiety, duration of the
event, and complexity of the event. Additionally , humans cannot possibly perceive everything that is
going on around them. During storage, memory may be altered by intervening events or information.
Even at the stage of retrieval, a witness may make certain claims, despite his or her uncertainty.

39. (A) to convict (B) conviction with
(C) conviction of (D) convict
(E) conviction to

40. (A) Rather (B) As a result (C) Only if (D) Furthermore (E) Unless



I ~RERISRHFRBEL S8 BEEEDEF (204)

Children who are abused or neglected are far more likely to become criminals as adults, according
to a study released by an organization of police chiefs, prosecutors, psychologists and crime victims.
The report by Fight Crime: Invest in Kids recommends more money for pre-kindergarten programs and
parenting classes, saying the cost will be offset later when children who might have been burdens on
society grow up to be upstanding citizens. “Children who survive abuse and neglect can be significantly
injured,” said one of the report's authors, Dr. Randell Alexander. “Many go on to hurt others. If you are
born into a world of violence, you wire yourself for violence, not for peace.”

Using various governmental data and academic and advocacy group studies, researchers said child
abuse and neglect is vastly underreported. The 900,000 cases reported annually by the Health and
Human Services Department may be only one-third of the actual total, the report said. The report cited a
study published by Dr. Cathy Spatz Widom, a professor of criminal justice and psychology at the State
University of New York at Albany, found that individuals who had been abused or neglected as
youngsters were 29 percent more likely to become violent criminals than other children. Using that
estimate, researchers said 36,000 children will become violent criminals when they reach adulthood,
including 250 who will become murders.

The report's authors include four local prosecutors and two sheriffs. They said the findings illustrate
the need for more governmental funds for pre-kindergarten programs and parenting classes for families
considered high-risk for child abuse, primarily those on welfare or headed by high school dropouts.

41. The people who participated in this study did NOT include
(A) police officers
(B) government officials
(C) crime victims
(D) scholars
(E) social workers

42. According to Dr. Randell Alexander,
(A) children who survive abuse usually grow up to be upstandmg citizens
(B) the cost for pre-kindergarten programs will not be balanced later
(C) people may fall victim to children who have been abused and neglected
(D) those who are born into a world of violence will surely be burdens on society
(E) children who survive abuse and neglect can be significantly upright

43. The word “offset” in line 4 is mostly like :
(A) initiated (B) set up (C) surpassed (D) compensated  (E) shortened

44. Based on the report by Fight Crime: Invest in Kids, the actual total of child abuse and neglect every
year may be cases.
(A) 30,000 (B) 36,000 (C) 261,000 (D) 900, 000 (E) 2,700,000

45. The report by Fight Crime: Invest in Kids

(A) illustrated the need for strict enforcement of the law against child abuse and neglect

(B) supported the idea that more money should be spent on parenting classes for families receiving
aid from the government

(C) found children who had been abused or neglected were 29 percent more likely to become
violent criminals than other children

(D) were questioned by the Health and Human Services Department, an organization in charge of
preventing child abuse

(E) was co-authored by eight people




Most of us have heard of the polygraph test, more commonly known as a lie-detector test. In this
test, the detectors record a person’s physiological reactions to certain questions. That is, a pair of plates
that can sense and measure subtle increases in sweating is attached to a person’s fingers, while at the
same time other devices monitor increases in blood pressure and pulse rate as well as breathing depth. In
administering the test, examiners usually ask neutral questions such as birth dates and addresses in order
to compare these responses with those from emotionally charged questions. While the polygraph is the
most common and long used measure, factors such as hunger or alcohol use can cause misleading
polygraph results. Minor self-inflicted pain during the test can also result in false positives.

Another technology, the electroencephalograph (ECG), is also used to detect lies, but in quite a
different way. As it turns out, one particular brain wave, which researchers have isolated and can graph,
surges whenever we see something we recognize. It’s impossible for any person to voluntarily suppress
this surge. So, when a crime suspect wearing a special headband hooked up to an ECG machine is
shown images or words connected with the crime and the brain wave suddenly spikes, the suspect’s
brain is essentially shouting, I’'m guilty!

Moreover, a newer form of lie detector is far simpler than any other technology, aside from simply
observing body language. People cannot help hesitating ever so briefly just before telling a lie. With
modern computer technology, we can now detect and measure the briefest such pauses, which tell us
when someone is lying.

46. Which of the following would be the most appropriate title for the passage?
(A) How to Cheat on a Lie Detector Test
(B) Do Polygraph Tests Always Reveal Lies?
(C) In Search of the Perfect Lie Detector
(D) The Technology of Crime Investigation
(E) Pathology Tests vs. ECG Tests

47. The word “those” in line 6 refers to :
(A) responses (B) questions  (C) addresses (D) birthdates  (E) examiners

48. According to the passage, physiological reactions include all of the following EXCEPT
(A) breathing movements
(B) posture differences
(C) blood-pressure changes
(D) heartbeats
(E) sweating

49. The passage indicates that whenever we see something we recognize, a brain wave
(A) suddenly rises up higher than it was
(B) suddenly falls down
(C) suddenly slows down
(D) suddenly shouts out
(E) suddenly disappears

50. According to the author,
(A) lies are always detected by the polygraph
(B) all physiological reactions indicate lying

(C) a liar will often pause, even if just for a moment PLEBERMNBNBEEAE
(D) observing the body movements can’t help to tell if a person is lying | sy L@ 5 “Hmm 2@ E % 448"
(E) the briefest pauses of a person cannot be detected and measured B85 N TRAE B PE AL 3E
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£ 40 »)

Ca(s)+ Cl(g) — CaCly(s) & ¥ » T 7 H &4 7
(A) Ca &3 -4l (B) Cl; ‘ers‘? L

(C)Ca@zla+ (D)8 7 = chge B A
M pR G R b g T R F A A
(A)# ek d 33 e frdl £ goig ot do & (B)s& ik & & 59 3

(C)s3 e 2 & dedk et (8 7 30

iR 298K o K s 2NO,(g) — NoOu(g)= 38 % 5% it £
"L76.6)/K > pd s fath wil & 208K AT GAL B BT
AVE A2 F o> AIEH 80 0 it 5

(B)# ¢ A2 F > FlE+ 80h o it
C)F ¢ A4 F o FlE T 2rh 0 it
(D)¢ A4 F > FlEH85h d i 4

CYend %8 525730 2 » § - + ¥ &
MAF Y CHCP I Eeh 18 AR

<

C14 z

12 .
C'zg %

WA PH
+ ¥

(A) 45840 = (B) 17190 & (C)11460 & (D) 716
TG E-BRpHER S 2T

(A)% % 1.00M CH3COONa/1.00M CH;COOH 1L i3 i 2. pH £_4.74
(B) = A ;A% ¥ 4~ 0.08mole 557 NaOH - P2 pH % 5 4.82

(C)A Az 4~ 0.12mole HCI » ] pH % % 4.50

(D) A % it B~ 1 (%4 e i i

T R $ ?,‘wc)\ ke s g okendEE A9

ST (B)2 p (C)e fe iy (D)# |
T Ak B¢ 0 78— 1B entropy g;h‘a’ﬁ ?

(A) AgCl(s) — Ag'(aq) +CI"

(B) HO(g) — H,O(l)

(C) Na(s) + 1/2 Cly(g) — NaCl(s)
(D) 2 KCI(s) + 30,(g) — 2 KCIOx(s)

(D)% » 5a & » pH E7 € 225 {2
-58.03kJ >

a7 H CHICH e
fﬁﬁ%ﬁﬁi 135‘&_]?_'%’5‘_1;'05‘ ‘/]4); 5

LA ERFENREAR

ISP LM F A RBEEEL LA
&4 AR B B 2052
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8. A+ H0,NHy, CO,, CIF, CCly sl 7 » T 5idy i ip & & i 9
(A)t&I2A + 4 H,0, CIF, CCl,
(B)#&tt~ + 3 H,O,NH;, CIF
(C)H,0 2 ¥ s 5 21 & o 5 ergt i §_sp? iR & frussh
(D)CIF A3+ »Cl & § 20

9. FENRAINIAM HIERJ/ERME ?

(A) 0°F (B) -40°F (C) 100°F (D) 32°F

1052 T 7]4 & Q@ R F it 55 4250 o
a CaSiOs(s) + b HF(g) — c CaFy(ag) + d SiF4(g) + e HyO(l)

(A) a=1, b=5, c=1, d=1, e=3 (B) a=1, b=6, c=1, d=1, e=4

(C) a=2, b=6, c=1, d=1, e=3 (D) a=1, b=6, c=1, d=1, e=3
11.7* 51]1?—‘55’1’715?—?%5 =% ?

(A) 20.0 g Na (B) 20.0 g Fe (C) 20.0 g Ag (D) 20.0g Cu
127570 g 25 5 F AL § 24t PHho

Aok A » 2 i3 b - %i%ki% g@ﬁﬁ@

B)T > 4258 > FHI AT B L 112

(C)aT == 4258 ¢ » § $ 3 mxf““ fﬂJ; 2:1

(D) fm= Az ¥ R § F e Fihg EAadiy Py gV AL

13.2 & 5| ddy
C(s) + 0O,(g) — CO,(g) AH= -393kJ
2 CO(g) + O,(g) — 2CO,(g) AH= -566 kJ
PR E A 2C(s) + 0(9) — CO(g) sHAH=?

(A) -220kJ (B) 100kJ (C) 566kJ (D) -786 kJ
4677 e e o PEREAFFEY 4 547

(A) CH;OH (B) CO (C) Ne (D) Cl,
15. %% 8bd M % B 0 B £ 5] CHy ~ MgO ~ H,O ~ H,S -

(A) CH,< MgO < H,0 < H,S (B) CH,4 < H,S < H,0 < MgO

(C) CH,4 < H,0 < H,S < MgO (D) MgO < H,0 < H,S < CH,

16. .3 B P o "-‘%1‘»'{‘7’3 gdi R VAR TRL 1
Nz(%’) + 0,(g) = 2NO(g)

Bk - Uv_fsa‘f AFg g s B T ek B F R EIN,]=0.041 M ~ [0,]=0.0078 M % [NO]
—4.7 x 107" Mo 35 b F e K E=9
(A)1.5x107 (B)3.8x10° (C)6.9x10™ (D)2.9x10°

17484 5 g% (molecular orbital theory) 4iipl ™ 74~ 7 % 4. (bond order) & % ?
(A) Oy (B) O, (C) G (D) N,

18.75ir F A B mchy it g4 & & 7
(A) 2-methyhexane  (B) 2-ethylpentane (C) 3-bromohexane (D) 3-chloro-3-methylpentane

(A) 40Ca2+ A»}; 20 3 - 18 % §
(C)}%'—)-’F‘% g’%ﬁ—; N '3"?‘—"?_‘—3-
(D)”T’:J-LL T3 &

19. T 7@ ¥ 5 2 7

fa g2



20.¢ fr3le2 3R FE 11429 T A F i i R R VER

2 CgHag() + 25 O5(g) — 16 CO,(g) + 18 H,O(l)
F‘LFF & STP g2 ™ > 65_@ o %mi va el 100gm R R
(A) 22.4L (B) 44.8L (C) 24.5L

S~ S EER(FHE3AS 0 X 604)
217 M 2 LI Fengeit > TAlR K SR AED
(A)% 57§ s 1 F
(B) 5 5 L chib
(€)% 7 #+ﬁ?kp£mﬁ?
(D)& + & F 25 B+ F ke
(BE)= i # el SRR e I S e

-

2204 2 NO;" ~ NO; 2 NO3 = 4~ et & 1 diy » ™ 6 vl £ 1
(A) NO;™ &£ 5 & (B)NO, 4££ & &
(C)NO; &% 5 & (D) NO," 45t £~

(E) NO;~ 44i # +

237 715 M % ket ACE T S LA
(A) C &k £ x%{gﬁ (B)= i a2 sp B

= fut

E N

(D) 45.0L

Fa e ?

(CYt A i 7.8 4 j At an]legnsE D)r & 4- 7@_ = 2

(SE- Tl R E

24.% B A BEA Pt T OAWREE 5O
(A) HI>HBr>HCI>HF (B) HF >HI>HBr>HCI
(C) Xe>Ar>Ne>He (D) CH3;0CH3; > CH3;CH,0OH
(E) O2>N;

25.c 4rd L F ef b € im4eT 0 Cu(s) - Cu” + 2e E°=

0.76V, d igm BLF ored kT o T AP K L
(A)H =283 = §_0.42V

(B)H &% § = £ _1.10V

(C)F & 4_Zn t&

(D)£1&E_Cu &

(E)4c % Cuz Zn”"@+ kR 2 L IM T2 T =7 it ¢ o

-0.34V , Zn(s) — Zn*" + 2e E°=
T FE Y

26 = fA AL Aok P 3 2R C pentanoic acid, butanoic acid, propanoic acid ¢ T 7] faﬂf‘f ERL

F?

(A) pentanoic acid ;% % & & =+

(B) butanoic acid 7% f% & & =

(C) propanoic acid % f# & & =

(D) if= B3 Wpeip e ki & £ a4givs 4
(E) pentanoic acid % fZ & |

27,7 & #eit v K 5 L AE D
(A) 5 fiie irkwm P p 88 5 kw5 & G 5k 4
(B)# & 34 < E Flpfis 3 FFiE* 4 %
C) 4 ms3k+ <~ EFafe 3+ FiEr 4 i)
D) & 5k 4 ~ g ficA o g P €21 iR
(E)# m 5k 4 & - fap & 4

§il 13



28.4 - kFTH 2
]lJa[E,;i ,—:_% F&:
(A & E_Cu(s)
BT EEE
(GNIRSES:
D)@+ * KNOs(ag)# % f2
(BE)d+ k& IM E_% £ 45 8 3k Gk &

i enff 7 W4T CUE) | O (IM) || Ag'(LM) | Ag(s) » Bt 27 0
‘?

29.#- 20.00 ml ¢ g (d=0.789g/ml, & + & 46.07)%c -k ¥ > B {373 P AHF 5 100ml (d=0.982

g/ml) » = 5w &£ ?

(A)e fe2. X B kR & 3.43M
(B)Lﬁ§¢7—g‘ FRER G416 M

(C)e gz % B 4 % 0.098

(D) fit Kia o ek & 216 10° ppb
(E)e fEia >t ke § @ -kepdat 2

0 FENNTRES LSRRGS o

(A) % p fo % A (B):E & £ e vk
Crex% D)z 5
B)g =% &

Sl Tgs > FENEARAY HRF P EFRNXZ 205 —‘ﬁi
(A) O° (B) P*
(C) Ccr* (D) Sn**
(E) Rb*

32“"}';]%@1“%‘3 ﬁj_\'m!}‘;[d’ F];E'_(?

(A) BT fr— - 53 ﬁg\fﬁ i A Tﬂ: IR E N ik
B)* ¥ F ¥ > 7 fFﬁ’.El:f ook #r T grenit B 2 g5 0 chd ‘{g"/’/ﬁ'—'ﬁ
(C) it 5 = ﬁbﬂmﬂ&%maﬁﬁﬁﬁé%ﬁi&

D) Tfr— i E 2 pF . 3 7 LBt E T

(E)F B xbg L f7 50 mqé,ﬁ s P AL T%%

S3ATHIE T A kiR P AL AR 7
(B)# ik & ( NasCOs )& i £:(I1) (MnCl)
(C) 3 e (HCI ){efiy iz 7 & (HY2(CoH102),)
(D)# it 4 ( NaNO; )fefi it 42( LiSO, )
(E)# it (H,S04 ) 4o & 1t 42( BaCl,)

M E T A A A A AP B g S EY D gk 2 10 ¥ B
(A) 4.95g % (B) 72.5 g =44
(C) 115mg =42 (D) 6.22 pg hgh
(E) 1359 =k,

3B.i F oA FASL MG F R E52K) 0 F o7
Ha(g) + F2(g) — 2 HF(g) AH= -542kJ
EE TR AT 0
(A)F X245 g4t & -542k] B)F £ 24 4 44 cip it £
C)»F foastF b (D) & F Jis 5 5 F s

(BE)y* B 4 4 &4 %% 4 -1084kJ

-271kJ

e B P R
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36.3+ BT )Z-/‘;“,gm[H] ) T'jrﬁ 4'v}’l§1EL',A”QzLﬁ3L[~'}‘?
(A) [OH ]=2.32x10"M (B) [OH ]1=8.99x10""M
(C) [OH ]=4.34x10°M (D) [OH ]=6.22x10"*M
(E) [OH ]=4.73x10"* M

7. B3 F B & ke
ZNO(g) + 0,(8) = 2N02(g)

PEENTE RRTAERCHTEEE SR T AR R S 7
(A)/T NEEE O3t A AL F e £ BT
(B »FE*hen Oy kAR F oo 23217
CFr BE B %%"f NO, i & Jiz v + & {7
(D)iEF &% &2 #% NO i & Jew =& (7
Bz » 10X 2g F3 i A F BTHF-ERLF BE

38.:F 11T At s T i B \t‘nac“ﬁm*”;ﬁg_i_l_ﬁ‘?
(A) CaH, > calcium hydride (B) Crlz » chromium(I1I) iodide
(C) CuBr; > cupric bromide (D) PbCl, > lead(IV) chloride
(E) Na,S - disodium sulfide

394945 T AT frenit 2 g w ¥R AR

CeH1206 () + O2 (g) — CO2 (9) + H20 (9)
K6 280°CE 0.976atm if T » 2 5009 CeHiOp F s » 11T fcit v % 5 3 7
(A)Z & 002778 ¥ B chi 4 (B)Z & 0.1667 & 2§ §
(C)7F & 4.22L 3 § (D)% & 8.44L % F
(E)2 & 4220 = § gk

40. T SR A S IR 4 angcif ey 2
(A)zbiEfd & F B2 ve— & F iT% 4 F 550 F7iTt 4
(B)r 7 iG3cadgie® 4 e+ 2 F BT K{;F 4
(CNH3 4 3 B & 4217 % 4 14 H,O <
(D)SOx(g)~ =+ 5 ¥ B4 — B & (T 4
(E)CH3CH,CHs this 3¢ A4 451 * 4 b CH,

YHBERMBOREAR
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FHEFWEI A FHF-EAY 0 L REUSHES S FHF - EHE 0 LEde US4
PR DFEHFE R
Bo|akzimE 4T
- “E-EB(FE2A > £ 404)
1'“%rﬁ%#\kt*“”wu FoE RV L e g (medium) X £ o PR RS B Q
=4AMWPpF > & 5 CpERF?
(A)150 #; (B)300 #; (C)600 #; (D)900 #;
2. FEZRIVPEROCERSAER S 1.34% HET UG5 509
(A)0.68% (B)0.70% (C)0.72% (D)0.74%
3. MG 220 RAF(V) 80 L H(W)eo B > #3823 110V ehT hpF » Eap P H a2 4 5 ¢
(A)20 W (B)30 W (C)40 W (D)60 W
4, THVR-IF € FITIEEF HA AREDFA DB FFL ?
(A)2 %730 (B)F¥ B $:BHIL/H # 2
CO)VFxBEH%7 1 (D)F - I; 4 3 78 5 £ R %
5. T F|Um— fES LA > Bt £ 319
(A)IG-01 (B)IG-55 (C)1G-100 (D)IG-541
6. TAVR- f BT FIAERZ E A PN
(AVF 1 4 (B) & Cpric & (D)% %
7. &5 Burgess-Wheeler 3235 » flean s g5 55 9
(A)421 kcal/mol (B)441 kcal/mol (C)461 kcal/mol (D)481 kcal/mol
8. FLABEDFLVRARZ 23 RFEAE S 3.0 Pl ERaL FEE > HIFHER L
(A)33 B R4F (B)® B RF (C)3e A R'F (D) & 55 & B'F
O FMUREBFRELNT 0 TAKLERFEE? | g suppr a0 BEEE

(A)F B4 kL2 7 2 fe
(B)#w @ ¥ thlic i 2 4 o 4 Py e BRI
C#BE il F 87 2 AHFUIHE

(D) F #1472 # 0 ¥ Glcd ¥ SRS Tk i
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11.p kT 2 3 o flgp¥t>to ¢ £ F > H¥hb B2 C 2 7 S #4305 2.0 5@‘)’%*@%‘9]%)@1{?%
B r ML EER 5 El}i?\%q’ﬁ BE P

(A)C=15 (B)C=0.5 (C)C=-0.1 (D)C=-0.02

122 wEx ForehB o T2 3Ll gp EEgAHE  £808 vFE5a8 3408,
i y5 & B H F Thomas #rik 9 cnfl 23- B 258 o g 4 e g 2 g g3 50 2
(A)22 MW (B)2.2 MW (C)1.2 MW (D)0.2 MW

o
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